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1. Which of the following three statements are TRUE 7
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2. Find f~1(7) if f(z) =1+2e"73 .
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3. If the graph of f(z) is shifted 2 units to the left, reflected across the y—axis, and finally shifted
up 3 units, the resulting function is
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4. If the tangent line to the curve y = f(z) at P(3,7) passes through the point Q(1,8), find f'(3).
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5. Which of these three statements are TRUE ?
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(Im) lim m —0. TRUE —
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7. Find a and b so the function f(z) defined below is continuous for all values of z .
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8. Evaluate this limit: lim (\/ z2 + 3z — m) .
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9. Which of the following statements are TRUE for this function? ){
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Only (I)
Only (I) and (III)

- Only (I) and (II)
. Only (II) and (III)
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10. Find all vertical and horizontal asymptotes of the function f(z) =

X ) ( 3) Vertical Asymptotes Horizontal Asymptotes
QX)_-T_&__)_L——"‘"} A, z=-3,2=0,z=3 and y=20
x—l»’ﬁ)(ﬁ 3 B. z=-3,2=0 and y=1
@ r=-3, =0 and none
D. 2z=0,2=3 and y=1
E. z=0,2=3 and y=-1,y=1

P& o x=0, x= -3
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11. If after ¢ seconds the displacement of an object moving along a straight line is s(t) = 3t — 20t

meters, find the (instantaneous) velocity at ¢ = 3.

v)= @)= f4 20

A. —6 m/sec

—2 m/sec

vB3)= §'3)= 18~20= -2 C. omfe
D. 18 m/sec
E. 48 m/sec
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12. If f(z) = <2+ %), then the expression flat )th(a ) =
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